Transformations of Functions

Parent Functions (
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Describe the transformation of the following functions and
identify the parent graph Sketch a graph for each.
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Describe the transformation. Sketch the parent
function as well as the newly transformed graph.
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Write the following transformations using the parent function y = [x]

1) Reflect about the y axis and shift up 4 Y = ""‘X\ +4

2) Reflect about the x axis and shift right 3 Y = - IX“"B\

3)  Veriically compressed by a factor of 3 and shift down 6 Y = '3"' ‘ Xl - (a

4)  Horizontally compressed by a factor of 5and shift up 2 \} - l 5374 \4- ;

Write the following using the parent functiony = x?
Msﬁw\r& 5)  Horizontally compressed by a factor of 2 and shift up 9 \{ = (a)i) '

(¥
2
6) Vertically stretched by a factor of 2 and reflecied over the X axis Y = ~AX
loedol-\ﬁ\‘ée g d Y
"&L()o:m}(l.eS@?) Vertically compressed by a factor of 4 and reflected about the y axis and
)w\\lo.) howe shifted down 3 units - A ( - X)I 3
Plow) V=5 -

Write an equation that represents the following transformations of y = vx

Vo
8) Horizontally stretched by a factor of 3 and up 6 Y = {5 X +6

9) Vertically compressed by a factor of 4 and left7 Y - I}LW

10) Vertically stretched by a factor of 2 and reflected about the x axis \{ = - as X

11) Horizontally compressed by a factor of 3, reflected about the y axis and

shifted down 2 units
Y: r-’3’><—— — I



Describe the transformation:
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Write the following using the parent function y = {(x)
1) Horizontally compressed by a factor of 2 f [&X)
2) Vertic?ally stretched by a factor of 2 | ) ,F ()4)

3) Horizontally stretched by a factor of 3 F ( ‘% K>

4) V.;artically compressed by a factor of 4 _14— {64)

5) Vertically stretched by a factor of 2 and reflected

about the x axis /_a F( % ")

6) Horizontally compressed by a factor of 3 and reflected
about the y axis ‘ﬁE 2, x)

7) Vertically compressed by a factor of 4 and reflected

about the y axis _\__ (. >
=



